5]
[2] Dreadee |0
e 4z [Ib-8 ' 4x202 | 2:5

Lt - 4 Tl
= e tF ©

X:C\t2+cz—t2"ig




[2] l% = ve T |®
M‘ v! 6’3X’3\/6/2XJ@

|
2
7
Q= v e 3ve™
- ’_Z\/\e"BX _"qvé’&%
= \/ltﬁlzy/é\/‘ e Cf\/efgx]@

\

X}j)}, = €/3X[><\/” —6x ! *qx\/
+(ew>y> Hbx+DV'+ (A8 -2V
HA2) s s (Qxr2Dv] |

_ -3 gl v
= \é Y[y\/ Vv :‘ CUECIPOINT . KO V WITHOUT /l@
= [
Le? u= V' — y'=y"
R y=0
x‘;]/:*;—u
‘V\)u); '\“lx\
V' = V= x
V= ’m)x)




[47]

[+ 41 B= O
r+2) +G4=0 '
=2 1@ |
\% = C,&’%CDSBX + C, e’zxs D3¢ l@

DI (i

ﬁ/’ e cos Dx —12€7 5w 2 @
chpf:hC»OSB){ '2%57/%Smg><‘

fj|CD> =]’8+ BC}:/S -5 = [ l@

\y = 4> cos 3 - s 2x[D




[BETLa0 (r—(ar b D—(a=bd=]r= D2ar + x2 b emom
@ LECTTURE

LE] szu\" = (»2@H>>< v + (2 DU :O\@
> _/ <
[cj 3 = XQC,DS C_E\\\/WX>
§ = lax = eos b+ xt LomlbinxdE|D
= X coslblax) = bx sm(blnax)

0

é@ Ala) x5 cos(blm) +ox* ! (~sim Oo'mX>>—>é—
by cos(blnx) 2 —bla1Dx*%gm (bl

@’\( A*= O L>7'>><wlcos (b ,n><> +( b '25\/\9> ><w2§) m(‘D I xj

Y = X[ (e co Unlmd + (2l 500 (I
“adxy | 20D cos (lnx) » (245K sin(bln )
(o) (o D cos ()]

=\O

@



r(g

* cos(blmx) X2 sin (b1nx) \
¥ ws(b)mb x5 (bl G sim(blmd) = bx* cas ;

0 costsla=) sinlbolng) + w%f g2 [hlmsc) |
@1 CQS//E/Y-A/X>SV~C5 n><> ‘\QX a S)\m (Ejmx>

- bXZA’ CCOS Cb’nx>+5;m (,b’m%j)
= EXM"J% Ol@
e,




